
෨𝑇 ∧ 𝜏

X
Age < 50 ans Age ≥ 50 ans

Censored observation

Data with censored observations

Data after Buckley-James (BJ) transformation

Data after Inverse Probability of Censoring (IPC) transformation

For uncensored observation: 

𝑇∗ =
෨𝑇∧ 𝜏.Δ𝜏

𝐺(𝑡|𝐴𝑔𝑒)

For censored observation: 

T*=0

T*

X
Age < 50 ans Age ≥ 50 ans

𝐺 𝑡 𝐴𝑔𝑒 < 50 = 0,6 𝐺 𝑡 𝐴𝑔𝑒 > 50 = 0,3

T*

X
Age < 50 ans Age ≥ 50 ans

For censored observation: 

𝑇∗ = 1 − Δ𝜏 . 𝐸[ ෨𝑇 ∧ 𝜏|𝐴𝑔𝑒, ෨𝑇 ∧ 𝜏 > 𝑡]

For uncensored observation 
(no modification):

𝑇∗ = ෨𝑇 ∧ 𝜏. Δ𝜏
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